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Page 62

Problem 2.16 before the errata change

The sum of the voltages around the loop in the figure is 70V, not zero!!!

Need to re-label the voltages in the figure so that KVL is satisfied.

CORRECTIONS:  Change the label of the rightmost box from “D” to “C”.

Change  “ –20 V” to “50 V”

(Note: this correction had already been noted in red type in the Solutions Manual)

Page 63

Problem 2.18 before the errata change

The problem cannot be done because only one current is given in the figure.

At least two currents are needed to do the problem.

CORRECTION:  There should be a 1-A current (top to bottom) through element “E”.

 (Note: this correction had already been noted in red type in the Solutions Manual)

Page 64

Problem 2.30 before the errata change

Students cannot do this problem because it needs the methods of Chapter 3.

This is NOT true. There is only one unknown node voltage in this circuit, and all that is needed to solve this problem is application of KCL at the node between R1 and R3. 

CORRECTION:  To make this more obvious, add the statement “Hint: apply KCL at the node between R1 and R3” after listing the numerical values of the components.

Page 66

Problem 2.41

A good problem, but in the figure, I think that the branch on the lower left should have a resistor in it, or the rest of the branches on the bottom should not have resistors in them.  It is do-able otherwise, but as it is shown, the beauty in the solution method is lost due to the loss of regularity of the circuit, because the resistor is missing.

One more time, Prof. Hartley is correct. A resistor was lost in the drawing. 

CORRECTION:  The fix is toad another resistor where indicated in the above comment.

Page 68

Problem 2.53

I would like the problem better if R(x) = kx.  We have done this experiment using both a Number 2 pencil and a wire.  The pencil has R(x) = 4+3x, x in inches, and the 4 is due to contact resistance.  This would be much more interesting than, R(x)=200exp(x), which does not seem very real.  

This is a matter of personal taste.  I think we should leave this problem alone.

Also, in part a., it should say, “If the resistance Rm is 100 ohms,”

CORRECTION:  I think this suggestion implies adding the word “if” before the words “the resistance” in part a).  I have no objections to doing so.

Page 81

Example 3.5

I checked the corrections, and they are correct.

Page 84

I checked the correction, and it is correct.

Page 87

Example 3.7

I checked the correction, and it is correct.

Page 89

Example 3.9

The correction for Mesh 3 is confusing.  It would be better leaving it alone and putting a minus sign in front,    -R1(I3-I1).

CORRECTION: change  R1(I3-I1) to -R1(I3-I1).

Also in Example 3.9, the figure (3.20) uses small letters (i) for current, while the worked out solution uses large letters (I) for current.

CORRECTION: change all “i” to “I” in Fig. 3.20.

Page 90

Equation 3.17 and 3.18

The correction should be “minus”.

I do not understand this comment. 

Page 95 and 96

Example 3.13

I think the original and the corrections are both wrong.  My matrix is 
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I solved the problem using meshes and nodes, and plugged each of these solutions into the other, and everything checks.  I got the gain as    
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So I guess that most of problem needs to be changed again, so that it is correct.

Argh!  I agree with Prof. Hartley’s correction: I arrive at the same matrix, use Matlab to get the inverse, but I get Av = +0.04. I can’t find the minus sign anywhere.  I believe the solution on the next page to be correct.
CORRECTION: please follow the steps below

Example 3.13

In step 3, 

mesh 2:

Rearranging the equation, and substituting the expression v = -R2(i1 – i2), we obtain:
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…

Finally, we can write the system of equations
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In step 4:

4. Solve the linear system…


[image: image5.wmf]
…Using Matlab to compute the inverse…
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and therefore

i1 = 0.88 v1

i2 = 0.32 v1
i3 = 0.16 v1
…

v2 = R5i3 = R5(0.16v1) = 0.25(0.16v1)
Av =….= 0.04
Comments:  The Matlab commands required to obtain the inverse of matrix R are listed below:

R=[1.5 –0.5 0; -1.5 2 -0.25; 1 -1.25 0.5];

Rinv=inv(R);

Page 206

Equation 5.9

The correction is correct.

Page 378

Problem 7.17

This problem either needs to give a frequency in order to determine the capacitive reactance, or the capacitance needs to be replaced by a capacitive reactance.  As it is, it cannot be done.

Prof. Hartley forgot that all of Chapter 7 assumes a frequency of 60 Hz (377 rad/s) unless otherwise  noted.  This point is emphasized on p. 330, and it is even highlighted as a learning objective (LO1).  This comment shows that one can never provide enough information. If the Instructor does not pay attention to a highlighted “learning objective”, one can only infer that the students are even less likely to do so.  I suppose that the most practical thing to do is to make the following

CORRECTION:  add the words “Assume f = 60 Hz” at the end of the problem statement.
Page 378

Problem 7.18

Here we are given 2 frequencies to use in problem 7.17.  So once problem 7.17 is fixed, this problem may need to be changed too.

See above.

Page 381

Problem 7.30

The very small angles given in this problem are given in degrees.  I think that they are meant to be radians.

CORRECTION:  remove the “degree” symbol next to 0.157 and 0.28.
Pages 381 to 387

If at all possible, it would be great to have the old transformer problems back in.  They seem to be better than many of these.  Also, put the 3-phase delta-wye transformer back in, I love that one (.

Page 437

Figure 8.51, top
In the op amp pin outs, they are supposed to be,    pin 4 is –Vs and pin 7 is +Vs.   They are presently switched. I had a student blow up two op amps using this pin out, which was a cool demo, but not what we expected.

CORRECTION:  change the pin labels as indicated above.
Page 663

I have a big black splotchy line running vertically up through all the problems on the left side???

CORRECTION:  this is a typesetting problem. I see the same in my copy of the book. Please fix.
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